Teacher - Mrs.Volynskaya  Algebra II Diagnostic Test    Name________________
Circle the answer. Show your work neatly on a separate piece of paper.

Evaluate the following:  
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5.  25.62 – 3.4 =

a.  22.22 
b.  25.28

c.  116.2

d.  2528

6.  52 × 4.7 =


a.  2.444
b.  24.44

c.  244.4

d.  2444
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8.  -5 + 10 =


a.  -15

b.  15

c.  -5

d.  5

9.  12 – (-6) =


a.  6

b.  -6

c.  18

d.  -18

10.  (-2 )+ (-2) =


a.  0

b.  -0

c.  4

d.  -4
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12.  A triangle has legs with lengths 8 inches and 6 inches.  Find the length of the hypotenuse.


a.  15.56

b.  10

c.  100

d.  6.63

13.  The Pythagorean Theorem can only be used with which type of triangle?


a.  obtuse triangle
b.  acute triangle
c.  right triangle
d.  all of the above

14.  Simplify:  3(x + 7)
a.  21x

b.  3x + 10

c.  3x + 21

d.  10x

15.  Evaluate:  2( 4 – 3) + ( 15 – 5) ÷ 2
a.  6

b.  7

c.  8

d.  9

16.  Which answer is the same as 5.32 × 10
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a.  0.0000532
b.  0.00000532

c.  532,000

d.  53,200,000

17.  Evaluate 5
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a.  625


b. 20


c. 125


d.  256

18.  Simplify:  4(x – 6)
a.  -20x

b.  4x – 24

c.  4x – 10

d.  x – 10

19.  Simplify: 2x(4 + 3)
a.  7 + 2x

b.  9x


c.  14x


d.  2x + 7

20.  Evaluate:  2 + 6 ÷ 2
a.  5

b.  4

c.  3

d.  6

21.  Evaluate:  4 – 3(2) + 4 ÷ 2
a.  0

b.  -2

c.  2

d.  4

22.  Simplify: 4p + 2p

a.  2p

b.  8p

c.  6p

d.  10p

23.  Simplify:  7y - 6y + 3y
a.  4y

b. 10y

c. 16y

d.  2y

24.  Simplify:  -5r + 3r 
a.  8r

b.  2r

c.  -2r

d.  -8r

25.  Simplify:  10j – 3j + 2j

a.  15j

b.  11j

c. 12j

d.  9j

Solve problems 26 - 31. 

26.  6x + 5 = 17

a.  4

b.  12

c.  3

d.  2

27.  3x = 21


a.  6

b.  21

c.  7

d.  24

28.  6d – 5 = 20

a.  10

b.  30

c.  5

d.  14

29.  
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a.  4

b.  36

c.  5

d.  60
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a.  4

b.  3

c.  24

d.  12
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a.  6

b.  3

c.  9

d.  12

32.  Choose the correct proportion for the following similar triangles.
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33.  Match the following inequality with its graph.  x + 3 > 10

a.  
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34.  Solve the following inequality: 
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35.  Evaluate the expression when x = 2, y = 3, and z = 5.
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36.  Evaluate 
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a.  -1

b.  2

c.  1

d.  7

  37. Which variable expression corresponds to “10 less than a number”?

A. x 
[image: image59.wmf]¸
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B. 10 – x
C. x + 10
D. x – 10 

  38. Which word phrase could correspond to the variable expression 
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A. 15 divided by a number
B. a number divided by 15


C. 15 times a number

D. a number decreased by 15

  39. Write a variable expression that corresponds to “the product of 6 and t.”

A. 6 – t 
B. 6 + t
C. 6t

D. 6 
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  40. A car travels m miles per hour. Which variable expression represents the number of miles traveled in 8 hours?  
A. 
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B. m – 8   C. 8m
D. 8 + m 

41.  Which equation is represented by the graph below? 
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42. Find the slope of the line given by the equation 
[image: image68.wmf]5

4

2

1

+

-

=

x

y




A. 
[image: image69.wmf]2

1

-



B. 
[image: image70.wmf]4

1

-



C. 
[image: image71.wmf]10

4



D. 
[image: image72.wmf]5

4


43.  Find the perimeter of the following figure.
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44. Find the circumference and area of the figure below.
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45.  Find the area of the triangle.  
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